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Declare
olyiogoll g Olpsioll s L

Begin
gl (3> Body

Exception
cUasV| axdleo

end;
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Ol aiol| y,2i 9 Slow|

name :='ahmed khaled’;
V:=15;

v_x humber; oaidasidl gog iz
v_y number(10);

v_z number(8,2) := 55.22;

name varchar2(5o);

v_Iname varchar2(20) :='Hilal’;

v_bdate date;

is_married boolean :=false;
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Ol aiol| y,2i 9 Slow|

Joa=d|

declare

v_did

% %

departments).(department_id )% type;

Jasdl g0i sy AsU

Number, Boolean ulS Ul
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Ol aiol| y,2i 9 Slow|

% rowtype :

>80 9 839>g0ll daocVl (sle duvo Wl jusioll
lo Jga> gl o

declare < | dg.\.z”

v_rec (departments )% rowtype;
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dbms_output.put_line( );

dbms_output.put_line(v_y);
dbms_output.put_line('######HH#HH');

dbms_output.put_line('The name is : ‘|| name);

ozl o Josll s aclball dlac oo sagall | | 8215
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Example (2 ) =3

declare
v_did number;
v_dname varchar2(50);
v_mid number;
v_lid number;

select department_id,department_name,manager_id,location_id
into v_did,v_dname,v_mid,v_lid

from departments

where department_id=10;

dbms_output.put_line('The recorsis:');
dbms_output.put_line('ID : || v_did);
dbms_output.put_line(‘Name :'|| v_dname);
dbms_output.put_line('Manager: '||v_mid);
dbms_output.put_line(‘Location : || v_lid);
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begin
select , location_id

_di, v_dname,v_mid, v_lid \
<7

from departments
where department_id=10;
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Example (2 ) s:

declare

v_did number; d > Ul uio cliwil Lioo Ld

v_dname varchar2(50);
v_mid number;
v_lid number;

begin . o
v_did :=666; A9 dluwl pi pu
v_dname :='Imam UN; Ol aiol] 612>

v_mid :=105;
v_lid :=1700;

insert into departments . .
X paid] i Ld
JoixlJ suaxll

(department_id,department_name, manager_id , location_id)

values(v_did , v_dname , v_mid , v_lid);
end;
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Example (3 ) =

declare
v_did departments.department_id%type;
v_dname departments.department_name%type;
v_mid departments.manager_id%type;

select department_id,department_name,manager_id
into v_did,v_dname,v_mid

from departments

where department_id=10;

dbms_output.put_line('The recorsiis: ');
dbms_output.put_line('ID : '|| v_did);
dbms_output.put_line('Name : || v_dname);
dbms_output.put_line('Manager: '[|v_mid);
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Example (3 ) é@@ﬂ @

declare

v_did departments.department_id %type;

v_dname departments.department_name %type;

v_mid departments.manager_id %type;

( %type ) plaskiwl 611> Olyusio Liub Liod Ld
Josdl €95 sty o P9 iy S|
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Example (3 ) §§§:D[| @

begin

select department_id , department_name , manager_id

intov_did , v_dname , v_mid
from departments

where department_id=10;

JWs o0 lp=lizs csadl Wby a0Vl HLasV oazsows
Ol uio 0 au 2 pi b
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Example (3 ) é@@ﬂ €

dbms_output.put_line('The recorsiis : ');

Jossdl aclb

dbms_output.put_line('ID : ‘|| v_did);
Ly sl

dbms_output.put_line('"Name: ‘|| v_dname);
dbms_output.put_line('Manager: * || v_mid);

end ;

abliv b o Jisdl puwl
Ol o (30
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Example ( z )

declare

begin

v_rec departments % rowtype;

select *

intov_rec

from departments

where department_id=10;

dbms_output.put_line('The recorsis: ');
dbms_output.put_line('ID :'|| v_rec.department_id);
dbms_output.put_line(' Name '|| v_rec.department_name);
dbms_output.put_line('Manager: '||v_rec.manager_id);
dbms_output.put_line('Location : '|| v_rec.location_id);
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Example ( 4 ) s:

declare

v_rec departments % rowtype;
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begin

select *_|

into v_rec

from departments

where department_id=10;

SQL-PL Lwg)d
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Example ( 4 ) s:

ﬂ_rb\ Lﬂiﬂ FL, JLHH rLH \r\ HH ( QMH JM

dbms_output.put_line('The recorsis: *);

dbms_output.put_line('ID : ‘|| v_rec . department_id);

dbms_output.put_line(‘Name :'|| v_rec . department_name);
(

dbms_output.put_line('Manager: '||v_rec . manager_id);

end ;

SQL-PL Luwg)d T






asUl yolol

bl @los. )

|F then







Example (5 ) s:

declare
v_salary employees.salary %type;
begin
select salary into v_salary
from employees
where employee_id=150;
if v_salary > 10000 then
dbms_output.put_line('VIP");
end if ;
end;

bodic wbaoll wil) Hlzw (v_salary) Md> jusio 9 )
Yooo o Sl ILJI OIS 131 Yoo = (employee_id) Uesy
(VIP) dlLw, g.bJ
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asll yolol

— Begin

It themn
@ls@ Wb>usislbyl vly>
End [7;

End;
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Example (6 ) :: Ll miiires

declare
v_salary employees.salary %type;
begin
select salary into v_salary
from employees
where employee_id=102;
if v_salary > 10000 then
dbms_output.put_line(‘"VIPY);
else
dbms_output.put_line(‘normal’);
end if ;
end;

Laic wbgoll wil) ,lsw (v_salary) MA>: juio O e
Yooo o ST WIlLJI U IB) oY = (employee_id) uasy
(normal ) &lw, gaboi Yoo o oo JOl US 13] ¢ (VIP) &l guloi
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else s us 151 bl lg>

End I7;

End;
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DG |F & Else

declare
v_salary employees.salary%type;
begin
select salary into v_salary
from employees
where employee_id=150;
if v_salary > 10000 then
dbms_output.put_line(‘"VIPY);
elsif (v_salary >=3000 and v_salary <=10000) then
dbms_output.put_line(‘normal’);
else
dbms_output.put_line('low");
end if;
end;
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DelnEXGABM |F & ElsIF

declare
v_salary employees.salary%type;
begin
select salary into v_salary
from employees
where employee_id=150;
if v_salary > 10000 then
dbms_output.put_line(‘"VIPY);
elsif (v_salary >=3000 and v_salary <=10000) then
dbms_output.put_line(‘normal’);
else
dbms_output.put_line('low");
end if;
end;

SOL'PL L).AJS)) Yo



Example (7) = é@@ﬂ @

wbgoll il Uiz ((v_salary) MA> juio W ,2i
Y +Y = (employee_id ) uasy bodic

(VIP) &lw) akai Yo oo o Sl il Jl ULS 13)
Yooo o0 J8l g Yeoo o Sl il US 1] o

(normal) Al faloj

(Low) &lw, gabai U e LIS 13] o

SQL-PL Lwg)d

R



DelnEXCHHEM | F & ElsIF

declare
v_salary employees.salary%type;
begin
select salary into v_salary
from employees
where employee_id=150;
if v_salary > 10000 then
dbms_output.put_line(‘"VIPY);
elsif (v_salary between 3000 and 10000) then
dbms_output.put_line(‘normal’);
else
dbms_output.put_line('low");
end if;
end;
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Example (8 ) =2 é@@ﬂ @

wbgoll wil) Hlsw (v_salary) Mi> jusio V%)

) +Y = (employee_id ) Ussy bodic

(VIP) &lw) akai Yo oo o Sl il Jl ULS 13)
(normal) Al aloi Yeee g Yeoo 1w il ULS 15] o

(Low) &lw, gudai cUd e ULS 13] o
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02 e\l

elsif LS ls bV oS

elseif cawud o9 o8 slaxi Vg

J=>I> ( And, Between ) plaziwl LulSol

(IF & elsif) bzl @los
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(i) loop-exit-end




aall yolol

— Begin

loop
EXIST WREN 2o by
End loop ;

Enas
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Example (9 ) :: Loop

declare
S|l
el ( v_counter ) slac 9 xj
loop (1) a0 & i 9
dbms_output.put_line(v_counter);
v_counter:=v_counter+1; (1)) d94 8,0 S dlasll
end loop;

end;

Yo 0 S| VeS) boaic (Loop 2,5 255w )
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Example (10)s:  |Melele

declare
>|all
begin ( v_counter ) slac O =i
loop (1) a0 & i 9
dbms_output.put_line(v_counter);
v_counter:=v_counter-1; ( Vuaii 8,0 JS dlall
end loop;

end;

20 = dlacll UeSy bbaie (Loop &)l 25w )
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(1) WHILE - LOOP - END







Example (a4 )

declare ( v_counter ) dlac w9 =i

slas)| (1) 8ad o siaui 8

begin

while v_counter <=10 loop 2 Yo 30 320l Slasll ULS 13

dbms_output.put_line(v_counter); ()) doiv 9 dal| guboy

v_counter:=v_counter+1;
end loop;

end;
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Example (12 ) s:

declare ( v_counter ) dlac w9 =i

slas)| (1) 8ad o siaui 8

begin

while v_counter >=1 loop € Y o0 ST dlasll ULS 13]

dbms_output.put_line(v_counter); () uadiiy ¢ dall guby

v_counter:=v_counter-1;

end loop;

end;
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Example (23 ) =

declare
v_sal employees.salary %type;
v_counter number :=0;

begin
select salary into v_sal
from employees
where employee_id=106;
while v_sal <10000 loop
v_sal :=v_sal*1.2;
v_counter :=v_counter+a;
end loop;
dbms_output.put_line('The number of monthes is : '||v_counter);
end;
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Example (43 ) =3

dlac L9 ,e o ( v_sal) aouwl juio Lo ,c

aouwd aJ Ldiwwl o (v_counter) aouwl

1+ p9, wabgol) (salary) ,lcw pi ()2.0)
% Yo @l dgjug (Y eeee ) o JOI ULS I3]

0oL Jl a2y LilyJl gadou 9 (),Y)



- EBTYH

(1) FOR - IN - LOOP - END




aall yolol

—Begin [E ...
s aolel] asuall
loop B
FOR 1 IN 4adl _adgdd LOOP
b S5 el Jeal
—=—t For [N ..loop [ OOP END
End loop ;

— Ends
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Example (23 ) = m

begin Declare glicw bo >lall
For‘ In1..10loop

dbms_output.put_line(v_counter);
end loop;
end ;

2t 2wl Wl 2ul

v_counter =1
v_counter =2
v_counter =3
v_counter =4

1o p9)Jl V| gabor Oguw
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Example (14 ) :3 m

begin Declare glicw bo >la2)l
Fo_-v_counter |r_ 1..10 loop )
> upuaS2JU [aw dlall

dbms_output.put_line(v_counter);

end loop;

end;
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For dlo> (59

w&io W, 585 uY Declare zlisw b
badl =1

'Y 9 )Y 08, Jln :: Jio
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oS sql &) 8 Select LAzl Wlle 8,15V Wligoll A
Jolasdl Wby go lostauws o) HLSWIgIF Jio @iludl solgVl Lasy
Oligoll 04D plaswawl o LY Us Josly &jseoll

A ki Bowsg axsally duioddl B Glridoll S0 aesi Judg
&0, MI aioVlg JuasidU a>lg

: v ol Ol uivgoll

vl wxwgDeclare VMeYl o ¢3S Ol uweoll o g9l 1AD =i piy
bsoSelect Maxidl §)le e a9,20JISAL &,le Jouuini
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Begin &,le A ,uugoll 2u9 pw -Y

1 oS 2u sl isgell s psi) dolsl] Adua
DECLARE

CURSOR _aisall awl IS
Sl

SQL-PL Luwg)d oY



ARy pmly gl and Jla0ul 2 0
Slaiu) ol A select adadial) Alaa aua g 2 gl g

: AhlaS open ¥ ol siiul Anth gk Aadiudy sl 13 iy agE s
OPEN il au
sayall a dal g (o) o Cllal) Jraad o) £l il o gl pdipal) it 2 g
: ok FETCH a1 alasialy ady g 3 520
FETCH ,éa) awl INTO Y ysiact piac......
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o into lglas § 4aud d.h.u-" gl UL &lﬂ.ﬁau‘:ﬁﬁl KN (24
adaia) A3 gall Jghall da (5 ghan I pidal) 2ae () Alaadla aS ) paiall
 plsal

BIE) Al g AE) lile qan il o clleadl ¢ al e gl s

close cursor _name
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-Begin

Open Cursor

Loop

**% Fetch Cursor
**EXIT when
Cursor Not
Fount

End Loop ;

Close Cursor

—End;

o1l
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Example (15) ::

declare

v_id employees.employee_id%type;
v_fname employees.first_name%type;
v_Iname employees.last_name%type;
v_sal employees.salary%type;

cursor cis select employee_id,first_name,last_name,salary
from employees where department_id=50;
begin
open ¢;
loop
fetch cinto v_id,v_fname,v_lname,v_sal;
exit when c % notfound:;
dbms_output.put_line(v_id||" '||v_fname||" '||v_Iname||' '||v_sal);
end loop;
close c;
end;

SQL-PL Luwg)d oV



Example (15 ) =3 é@@ﬂ @

declare
v_id employees.employee_id%type; Wl uioll WO i
v_fname employees.first_name%type; AVEY \Jl
v_Iname employees.last_name%type; . )
v_sal employees.salary%type;

cursor cis select employee_id,first_name,last_name,salary
from employees
where department_id=50;

JoVl puwVl o wabgoll o8, Hicw 9 (C ) )ugo O
il 9 wbgoll jus VNl puw)l o
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Example (15) :: eS| o=ty

begin

‘Lopenc;— 90| >
loop

fetch| c intov_id,v_fname,v_Iname,v_sal;

exit when ¢ % notfound; | € )= yanooll Aoud A>u o 15]
dbms_output.put_line(v_id||' '||v_fname||" '||v_Iname]|' '||v_sal);

end loop;

close c;
end;

SQL-PL Luwg)d oA



Cursor &\ pM=iaw V] Ul (gsludl JLoJl 9 La>Y

Joew oo 2SI suidoll dlel o Gasw 13l S Al Jxaww S99 Bouw
€ UMl @8LS e 9,001 Us,lg

Found OR NotFound oVl pasciuws 11

Loop &o NotFound ).oc\ll P ASiaad
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-Begin
Open Cursor

Loop

*% Fetch Cursor

while %found loop

®*% Fetch Cursor

End Loop ;

Close Cursor

__End;

1)
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Example (26 ) ::

declare
v_id employees.employee_id%type;
v_fname employees.first_name%type;
v_Iname employees.last_name%type;
v_sal employees.salary%type;
cursor c is select employee_.id,first_name,last_name,salary
from employees where department_id=50;

begin
open ¢;
fetch cinto v_id,v_fname,v_Iname,v_sal;
while ¢ %found loop
dbms_output.put_line(v_id||" '[|v_fname||' '|[v_lname||" '[]v_sal);
fetch cinto v_id,v_fname,v_Iname,v_sal;
end loop;
close c;
end;
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Example (16 ) s: é@@ﬂ @

begin
open C;
fetch | cintov id,v_fname,v_Iname,v_sal;
while c [%found loop
dbms_output.put_line(v_id||" '[|v_fname||' '|[v_lname||" '[]v_sal);
fetch | cintov_id,v_fname,v_lname,v_sal;
end loop;
close c;
end;

While goCursor pl=wiaw LD
HY RCTENY
two Fetch && %Found
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Example (17 ) :: (TR

declare
cursor c is select employee_id,first_name,last_name,salary
from employees where department_id=50;
v_rec c %rowtype;

begin

open ¢;

fetch cinto v_rec;

while ¢ %found loop

dbms_output.put_line(v_rec.employee_id||" '||v_rec.first_name]||'
'||v_rec.last_name||' '||v_rec.salary);

fetch cinto v_rec;

end loop;

close c;
end;

SQL-PL Luwg)d s



Example (17 ) s §§§:ﬂ l] Cr=

Ol uiol| i (92l (S) 9 (wland] JUJIl s Ld
%rowtype oVl Log.as o

( v_rec) Ol uioll acgozxo W i pJ ( C) )uivgnll WO i
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Example (18 ) ::

declare
cursor cis select employee_id, first_name,last_name,salary
from employees
where department_id=50;
begin
for v_recin cloop

dbms_output.put_line(v_rec.employee_id||' '||v_rec.first_name||'
'[|v_rec.last_name||' '||v_rec.salary);

end loop;
end;
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Example (18 ) s é§§:ﬂ l] Cr=

HEE N | R FCTRY
Fetch & Open & Close
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DrelnlY @D Cursors _IF

declare
v_job employees.job_id%type;
v_id employees.employee_id%type;
cursor c is select employee_id,job_id from employees;
begin
open ¢;
loop
fetch cinto v_id,v_job;
exit when c%notfound;
if v_job='ST_CLERK' then
delete from employees where employee_id=v_id;
elsif v_job='IT_PROG' then
update employees set department_id=50 where employee_id=v_id;
else
dbms_output.put_line(‘No Changes');
end if;
end loop;
closec;
end;

SQL-PL Luwg)d A



B EE eS| go=s

(C ) sdo WO2i9 ((v_id) 9 ((v_sal) yaio 9=

2x5u 0dx pJ I5] (v_sal ) wilyl 9 (v_id ) wabgall p9) axi pJ 15|

% Y+ 03957 9 wil,Jupdate Josi Yesees g Yooo o wilJl OIS I3] *
(,Y)

% 10 039 9 Wil Jupdate Josi Yoo+ oo JOI Gl Jl OIS 15] *
(),)o0 )

(),) ) %Y+ 0393 9 wil,Uupdate Joei U5 e wilyJl UlS 13] *
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W\ oS Fetch ,0Vl Loop 860 pistiaw pJ

(10) p9, JUJI

( IF & IFels ) 1,8l addo> Lwodzuaw! SJ
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el Y ) 33l Cursors _IF

declare
v_sal employees.salary%type;
v_id employees.employee_id%type;
cursor c is select employee_id,salary from employees;
begin
open ¢;
loop
fetch cinto v_id,v_sal;
exit when c%notfound;
if v_sal < 3000 then
update employees set salary=salary*1.2 where employee_id=v_id;
elsif v_sal between 3000 and 10000 then
update employees set salary=salary*1.15 where employee_id=v_id;
else
update employees set salary=salary*1.1 where employee_id=v_id;
end if;
end loop;
closec;
end;

SQL-PL Luwg)d V)






Exception aodSy [ow ¢33l 13d g « S, Ll £5> g8
o5l poow Sl )=Vl Lo piu 5=l 13D (9 g
s Gga> dls (a9
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Example ( 24) ::

declare
v_Iname employees.last_name%itype;

begin
dbms_output.put_line('Before Exception');
select last_name into v_Iname
from employees;
dbms_output.put_line(v_Iname);
exception

when too_many_rows then
dbms_output.put_line('Pleae set Comndition in sql statement');

end;
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Example ( 22) ::

declare
v_Iname employees.last_name%type;

begin
select last_ name Into v_Iname
from employees
where employee_id=101;
dbms_output.put_line(v_Iname);
exception

when no_data_found then
dbms_output.put_line('No data returned from sql statement');

end;

SQL-PL Luwg)d V1



Example ( 23) :a

declare
v_Iname employees.last_name%type;

begin
select last_ name Into v_Iname
from employees
where employee_id=103;
dbms_output.put_line(50/0);
exception

when zero_divide then
dbms_output.put_line('Cant division on zero');

end;

SQL-PL Luwg)d WV



Example (25):: [EXCEPEION

dgp laS).c

create table error

(
title varchar2(25), .
err_date date




Example ( 25) =3

declare
v_Iname employees.last_name%type;
begin
select [ast_name into v_Iname from employees;
dbms_output.put_line(v_lname);
dbms_output.put_line(50/0);
exception
when too_many_rows then
dbms_output.put_line(‘Pleae set Comndition in sql statement’);
insert into error values('Too many rows',sysdate);
when no_data_found then
dbms_output.put_line('No data returned from sql statement');
insert into error values(‘no data found',sysdate);
when zero_divide then
dbms_output.put_line(‘Cant division on zero');
insert into error values('Zero Divide',sysdate);
end;

SQL-PL Luwg)d va



Example ( 25) §§§:ﬂ l] Cr=

exception
when too_many_rows then

dbms_output.put_line('Pleae set Comndition in sql statement’);
insert into error values('Too many rows',sysdate);

when no_data_found then

dbms_output.put_line('No data returned from sqgl statement’);
insert into error values('no data found,
when zero_divide then
dbms_output.put_line('Cant division on zero"); el yol>
insert into error values('Zero Divide',sysdate);

end;

acgi > (insert ) d Josi bos La>g )
Uil L9 S| s>Vl Jga> 5\9
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Example ( 26) :;

declare
v_Iname employees.last_name%type;
begin
select last_name into v_Iname from employees ;
dbms_output.put_line(v_lname);
dbms_output.put_line(50/0);
exception
when too_many_rows then
dbms_output.put_line('Pleae set Comndition in sql statement’);
insert into error values('Too many rows',sysdate);
when no_data_found then
dbms_output.put_line('No data returned from sql statement’);
insert into error values('no data found',sysdate);
when zero_divide then
dbms_output.put_line('Cant division on zero');
insert into error values('Zero Divide',sysdate);
when others then
dbms_output.put_line('Error");
end;

SQL-PL wg)d
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Example ( 26) :: é§§:ﬂ l] @

exception

when too_many_rows then
dbms_output.put_line('Pleae set Comndition in sql statement');
insert into error values('Too many rows',sysdate);

when no_data_found then
dbms_output.put_line('No data returned from sql statement');
insert into error values('no data found',sysdate);

when zero_divide then
dbms_output.put_line(‘Cant division on zero');
insertinto error values('Zero Divide',sysdate);

when others then
dbms_output.put_line(‘Error');

Wl gleiVl guo> Jowin i1 ol 14D
sy Lu|
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( Exception )

** Railse
** Commit
** Rollback




Example ( 27) :a

declare

v_sal employees.salary%type;
my_exp exception;

begin
) update employees set salary=salary*1.7 where employee_id=200;
select salary into v_sal from employees where employee_id=200;
if v_sal >5500 then
raise my_exp;
else
dbms_output.put_line(‘The salary is updated);
commit;
end if;
exception
when my_exp then
dbms_output.put_line('The salary is more than 7500');
rollback;
end;
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declare
v_sal employees.salary%type;

my_exp exception;
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** Raise

A
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else
dbms_output.put_line('The salary is updated');
commit;

end if;

data base (o L>,3> 13| (commit) aa.lbg
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exception
when my_exp then
dbms_output.put_line(‘The salary is more than 7500');
rollback;
end;

data base (o L>,> I3] (rollback) aa.dsq
psill g Olya=ill gro> e &>lhw
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Procedure

Create or replace procedure( Name of procedure)
(parameter)

IS/AS €—— 31>9 S| ,lizvi Ul fubisws
(IS/AS ) Asw LD UVeSy Declare
Begin
Exception
End (My procedure) ;
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Procedure

SOl * 25 JOAUS aghl 83 pa (e S PIKE anJJ!I !31?1@55,1;339;13141@3*&@1 w_gﬂ;ﬁlﬁﬁiﬁd{
aqling Lai g awl agha g QULLY 32018 8¢l o) 10 (p ik a gl ol el ) sala (Sl il o Juas) Sl plus

.

A A ) a8 ) 138 L Il 0 ol e B0 18 g Ay A0 i
bl sk ()R 5 2 sl o i Ly

<l e g3 paal) JUNYI O al.CREATE [OR REPLACE] PROCEDURE procedure_name(
eI AY)

il ¢l aY adl procedure_name Jid cus
(e e dgasa el Al () alal Lals a6 42 OR REPLACE W

Gl By ol b gl Jana Gl 6 ) Ll S e alide &) it Lal g8 Gl G AN O i) G L
bl (198 JSAD 13 e iy al g COANS a4 ogd Alina e 1 i )

student_id in number(9)

JALS piay paiall 13 o drag jn aaldd Undagsiy o student_id s& il aul BaY
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! bba iy ) oy allal) Jnag oy e i pal Uy ) g1 Sa o) ) (o Ay gy i iy a1
ave out number(3,2)
e dd ;i a8 2 ) Jina o s g el 13 (66 paY) LS

e A i) g o) a1 g Y o Al A i il il g AL i iy (K 4D ) g
! LS g i)

ave in out number(5,2)

gl i B Aag i ) 13 g
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Create or replace Function( Name of Function)
(parameter)
Return ( data type of function)

IS/AS €—— 51>9 Sl Lz Ul fuboisuw
(IS/AS ) aw Ld VeSy Declare
Begin
Exception
End (My Function) ;
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Function

A Al il gl (e diaadi Y g Ad Al cile) jaY) (e Al dag pdl) A Uaad
dagh an i A JAl) Ciila gl) ) (5 Al ol
:&LAS zubJ‘Z\.L..\ml\

CREATE [OR REPLACE] FUNCTION function_name(< sdags ) sl JU) & puia z) AY)
RETURN datatype

Aadiica) dib gl adl function_name Jia cua
bl (g5 6) ) () sl Lals puagi 42 REPLACE OR U
i) a8 5 e g s Jina Gl g ) Gl IS1Y e Adida &) e o) g G gl (e A O i) 0 Ll

A5 A AR il oY) ra g Uil ) AR ) (s b g COALS piad A 03 Al e 3 5
AL ) e bl Aall £ 93 Jo JU 44 datatype RETURN Wl sk & il
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Example ( 28) =3

create or replace procedure print_all_emp( p_did
employees.department_id%type)

as
cursor c is select first_name,last_name,salary
from employees
where department_id=p_did;

begin

for v_recin cloop
dbms_output.put_line(v_rec.first_name||’
'||v_rec.last_name||" ‘||v_rec.salary);
end loop;
end print_all_emp;
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create or replace procedure horint_all_emp

( |p_did employees.department_id%type

( Procedure ) jaio £9oJ
( Procedure ) puwl

SQL-PL Luwg)d Q1



Example ( 29) :3

create table circle

(id number, (_ d9-‘7 L e
r number); oplall Lva>
create or replace procedure circle_proc (p_id number)
IS
v_r number;
begin

selectrintov_r

from circle where id=p_id;

dbms_output.put_line('Muhit : '[|(2*3.24*Vv_r));

dbms_output.put_line(‘Area : '[|(v_r*v_r*3.14));
exception

when no_data_found  then

dbms_output.put_line('The circle you selected
no exists');
end circle_prog;
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create or replace procedure circle_proc (p_id number)

is
v_r number;

begin &1l lu=o

selectrintov_r

from circle where id=p_.id;

dbms_output.put_line(* Muhit : |'[|(2*3.14*Vv_r));

dbms_output.put_line(‘Area : '||(v_r*v_r*3.14));
exception

when no_data found then

dbms_output.put_line('The circle you selected no exists');
end circle_prog;
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Example ( 30) ::

create or replace function getR(p_id number)
return number
IS
v_r number;
begin
selectrintov_r
from circle
where id=p_id;
return v_r;
exception
when no_data_found then
return o;
end getR;
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create or replace procedure circle_proc( (p_id )number)

is
v_r number;
begin :
v_r :=getR((p_id));
dbms_output.put_line('Muhit : '|[(2*3.24*Vv_r));
dbms_output.put_line(‘Area : '||(v_r*v_r*3.14));
end;

( Function ) «sJl ((v_r ) ol jusiedl aoyd sbiowl Lod
( Example 30 ) s lpay,eu Lod sl aslul

SQL-PL Luwg)d Yoo



Example ( 32) :3

create or replace function getDid (p_eid number)
return number

is
v_did number;

begin
select department_id into v_did
from employees
where employee_id=p_eid;
return v_did;

exception
when no_data_found then

return o;
end getDid;

SQL-PL Luwg)d Yo



Example ( 33) :3

create or replace procedure updateEmpSal(p_eid number)
IS

v_did number;
begin

v_did :=getDid(p_eid);

if v_did!=0 then

if(v_did=50) then

update employees set salary=salary*1.5 where employee_id=p_eid;

else
update employees set salary=salary*1.2 where employee_id=p_eid;
end if;
else
dbms_output.put_line('Employee not found');
end if;

end updateEmpSal;
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Example ( 34) s:

NO _STU [COURSE CODE[ MARK | POINT
111 216CS 88 13.5
212 225CS 73 10.5
333 225CS 40 3
111 225CS 9 14.25
212 216CS 78 10.5
333 216CS 85 13.5

Al g ey A B ) 3 ) el B oy iy o )

Oyl el 28 gana = B p ganm LS Gl il Jonal) s o g
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- =3 =3 =3 =3 =3 =3 -4 -3

create or replace function stu_avea(stnum in studys.NO_STU%type)
return real

as

hour courses.hours%type;

avrage number(4,2);

sum_hours courses.hours%type:=0;
point studys.POINT%type;
total_Point studys.POINT%type:=0;
codem courses.CODE%type;

cursor sumpoint

is

select COURSE_CODE,POINT

from studys

where NO_STU=stnum;

begin

open sumpoint;

loop

fetch sumpoint into codem,point;

SQL-PL Lwg)d
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19| exit when sumpoint%notfound;
20| select hours

21|into hour

22 |from courses

23 |where code=codem;

24 |total_Point:=total_Point+point;
25| sum_hours:=sum_hours+hour;
26 | end loop;

27 | close sumpoint;

28 | avrage:=total_Point/sum_hours;
29 | return avrage;

30(end:;
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LBl iyl ny QB b

Al gl L a5 g A Al p ginY ol )l

courses Jsia 35 sall il Glelu 2ie Jis i g Cloladl 2 it iy int b jhud)
Jinal) 45 g g 1 piha i 310 B Jhaud)

3 gall S A Dlall clolud) e gana 45 puda gy (K1 plia (i o027 a8 jhad)

SR ) 2 D Bl e dg g e i pdtY ad) jhad

A J8 8 Qlhall BRI 2% p gara 4 puda gy (S e i 2 0A a2 ) b

Balall 298] piia iy a3 18 Q8 sl

S BE 2o g aleladl e o Jpand) 8 4ls itud S0 A o Jaanllm o pdiga iy ad ) e ad) bl
LI ¢ gana N Lgducat ) ) ol

daa Jalai S0 pdiigal) 138 i VY B shad)

Jotal an o jai Sl o Jeaal VY a8 jhad

codem,point & piall (& Al Jaall jligall ad CuaadV A ad ) bl

Aagall B Ja o) dag 1Y g g dilal plgd b jdi i) 4 a3 ) jhd)

g el el AU dgagall el B OB Clelu e o Jpaallaghy (S Jad pdgaY e A bl
hour _aid) L8 cleld e
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) B § gana ) M jhall B 3o Bl 17y
Gkl Clelad) f pana ) dad | fall clelad) 2 4dlal 1o 23 bl
Al g g AT bl

Aadl) gl slgdl 1YV gy bl
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